(ameoo W

= MIGHLY ERODIBLE LAND CLASSES -

ITENTIALLY
T

HI¢

[ I HEL. R T
MUID . SOIL NAME o VALUE  VALUE  CLASS VALUE  VALUE VALUE
KRRERNEH RHRERKE ERRREERETRERHEERRE H RRR HRRRE RRRREN RAXRE N
QT ARD: ALERIGHTS 100
AOTARC ALBRIGHTS 100
: ALBRIGHTS 100

“ERCEN SLOPE-~~LENGTH L&~ VALUE
mAaX. MIN. MAK . MIN. MA .
CRF R KRR HE RN RERREE RRENE RERUAR HXERRR HRRRE HFRNH
100 . 400
100 400
100 4060

100 100 4 400

100 100 = 400 )
: 100 SR 100 B SO0 O
GOTERA ERINEERTION 100 O 100 i 400 8]
INKERTON 100 [ 100 400 1
AOTREGE ERINKERTOM 100 (W] 100 e 406 0 1
T RUE 100 100 & 400 0. 1
AQOTELIC EUCHANAN 100 100 ] 400 0O, [

DT LD ELUCHANAN 100 100 16 400 F. 1

DTEXE

EUCHANAN 100 100 400

3
a2 e

TEXD EUCHANAN 100 100 3 o 400 0. 1
A0TCAA CAVODE 100 100 ] (o] 400 Q

CAVIODE 100 100 ] e k] 100 400 i &
CAVIIDE 100 100 = = 15 100 400 ) i
CAVIIDE 100 100 = O = 100 400 i s
CAVODE 100 100 = bl 100 400 i1

e

L)

100 100

1Q0Q 400

OO0

LO7TCOR FORT 100 100 0.2 £ u 100 400 L OO0 =
&HOTCOC FORT 100 100 5] 100 400 L OO0 &

L3 03 fad G
o0
-

b |

AO0TCPE FIRT 100 100 0 k] 100 400 b
AO7TCFD C NRT 100 100 o = =5 100 400 e
AOTHAR 100 B! el = 100 400 3
EQOTHAC HARTLETON 100 100 R = 15 100 400 =
A0OTHAD HARTLETON 100 100 e et 100 400 1
AQOTHAF HARTLETON 100 100 ] £0 100 400 1
AOTHEDR HARTLETON 100 100 Q.15 ] 100 400 Z
SHOTHED HARTLETON 100 100 015 ] 100 400 ;

AOTHOR HAZLETON 100 100 0.17 e 100 400 3
AOTHOC HAZILLETON 100 100 [A Iy d 3 100 400 =

AQOTHOD HAZLETON 100 (939 100 0. 17 = k] 100 400 i,
AOTHXE HAZL.ETON 100 0. 100 0.1% et = 100 400 =
SOTHX HAZLETON 0. 100 0,15 e 100 400 b
AT HAZLETON 0. 100 015 e} 100 400 1
AQOTHYE HAZI_ETON Q. 100 015 el o 100 400 =
AQTLER LECE KILL 0.5 100 O,%4 ] = 100 400 1.000
AQTLEC ILL 0.2 100 0,24 o 100 400 1., 000 =

b el

1
i
1
1
1
i
1
1
1
1
1
1
1
1
1
1
1
i
1
1
1
1
1
: 1
HARTLETON 1 100
i
1
1
1
1
1
1
1
1
1
1
1
1
1
1
1
i
1
1
1
1
1

AOTLED I L Q.8 100 5] 100 400 1,000 1

BOTLEF EILL 0.3 10C 3 i 100 400 1

AOTNDA NOLC 0.8 100 =2 0 100 400 ]

AQTNOR NOLD 0.2 100 e} e 100 400 &
EOTNNKE N2 100 (R 100 3 Q 100 400
O7FH FHILD 100 0.8 100 5 O 100 400
HAQTPO F 3 100 0.3 100 ] 0 100 400

AOTUR UDIFILLUVENTS =0 Q. 100 0 100 400 Qo #

; ELICHANAN s [ 100 e (] 100 - 400 1. 000 =

UDCORTHENTS 1 100 Q.3 100 1040 400 “RROR ERRO

UDORTHENTS 1 100 (R 100 0.l 5 100 400 4,000 bt

MHARTIIN 1 100 (R 100 & 100 400 0. =

WHARTON i 100 [ 100 = o 100 400 1

IWHARTEIN 1 100 0.5 a0 £ 15 100 400 1

W WHARTIZN i 100 (a1 100 ] ] 100 400 =

AT BHARTIIN 1 Q.2 100 e 100 400 q




il

a3

9] B AT




